



Name: _____

Date: _____ Score: _____

$$\left(3 - \frac{3}{4}\right)^2 + \frac{2}{5} \times \frac{2}{3} \times 4^2 =$$

$$\left(\frac{1}{2} + \frac{1}{2}\right)^2 + \frac{3}{5}\left(\frac{2}{5} + \frac{1}{5}\right) =$$

$$\left(\frac{1}{3} + \frac{1}{6}\right)^2 - \frac{3}{2}\left(\frac{1}{4} + \left(\frac{2}{3}\right)^2\right) =$$

$$\left(\frac{1}{3} - \left(\frac{1}{2}\right)^2\right) \times \frac{1}{4} + \left(\frac{1}{3} + \frac{1}{5}\right)^2 =$$

$$\left(2 + \frac{3}{2}\right)^2 + \frac{2}{3} \times 3^2 \times \frac{1}{2} =$$

$$\left(\frac{1}{2} + \left(\frac{1}{4}\right)^2\right) \times \frac{1}{2} + \left(\frac{1}{3} - \frac{1}{2}\right)^2 =$$

$$\left(\frac{1}{2} - \frac{1}{4}\right)^2 + \frac{2}{3}\left(\frac{2}{3} - \left(\frac{1}{4}\right)^2\right) =$$

$$\left(\left(\frac{1}{2}\right)^2 + \frac{1}{3}\right) \times \frac{3}{4} + \left(\frac{1}{2} + \frac{3}{2}\right)^2 =$$

$$\left(\frac{2}{5} - \frac{1}{2}\right)^2 + \frac{1}{2}\left(\frac{1}{4} + \left(\frac{1}{2}\right)^2\right) =$$

$$\left(\left(\frac{1}{3}\right)^2 + \frac{3}{2}\right) \times \frac{2}{3} - \left(\frac{1}{3} - \frac{2}{5}\right)^2 =$$



Name: _____

Date: _____ Score: _____

$$\left(3 - \frac{3}{4}\right)^2 + \frac{2}{5} \times \frac{2}{3} \times 4^2 = \frac{2239}{240} = 9\frac{79}{240}$$

$$\left(\frac{1}{2} + \frac{1}{2}\right)^2 + \frac{3}{5}\left(\frac{2}{5} + \frac{1}{5}\right) = \frac{34}{25} = 1\frac{9}{25}$$

$$\left(\frac{1}{3} + \frac{1}{6}\right)^2 - \frac{3}{2}\left(\frac{1}{4} + \left(\frac{2}{3}\right)^2\right) = \left(-\frac{19}{24}\right)$$

$$\left(\frac{1}{3} - \left(\frac{1}{2}\right)^2\right) \times \frac{1}{4} + \left(\frac{1}{3} + \frac{1}{5}\right)^2 = \frac{1099}{3600}$$

$$\left(2 + \frac{3}{2}\right)^2 + \frac{2}{3} \times 3^2 \times \frac{1}{2} = \frac{61}{4} = 15\frac{1}{4}$$

$$\left(\frac{1}{2} + \left(\frac{1}{4}\right)^2\right) \times \frac{1}{2} + \left(\frac{1}{3} - \frac{1}{2}\right)^2 = \frac{89}{288}$$

$$\left(\frac{1}{2} - \frac{1}{4}\right)^2 + \frac{2}{3}\left(\frac{2}{3} - \left(\frac{1}{4}\right)^2\right) = \frac{67}{144}$$

$$\left(\left(\frac{1}{2}\right)^2 + \frac{1}{3}\right) \times \frac{3}{4} + \left(\frac{1}{2} + \frac{3}{2}\right)^2 = \frac{71}{16} = 4\frac{7}{16}$$

$$\left(\frac{2}{5} - \frac{1}{2}\right)^2 + \frac{1}{2}\left(\frac{1}{4} + \left(\frac{1}{2}\right)^2\right) = \frac{13}{50}$$

$$\left(\left(\frac{1}{3}\right)^2 + \frac{3}{2}\right) \times \frac{2}{3} - \left(\frac{1}{3} - \frac{2}{5}\right)^2 = \frac{722}{675} = 1\frac{47}{675}$$